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1) Solve:  
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2) Solve:  
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3) Solve:  
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4) Solve:  
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5) If a car uses 3 quarts of oil on a 630-mile trip, how many quarts will it use 

on a 1,250-mile trip? 

6) If the dosage for a certain medicine calls for giving 6 ounces of medicine for 

every 49 pounds of body weight, how much medicine should you give to a 

person who weighs 196 pounds? 

7) If it takes 22 gallons of gas to drive 418 miles, how many miles can you 

drive on 665 gallons of gas? 

8) Solve:    −2(6x −5)− 7x − (−2−1)3 = −120 − 4(2x − 3)−11− 6x   

9) Solve:    −36 ÷ 6(−3− 3)− 6(x − 7)− 9x − 43 = 2(4x −5)− (−2−1)3   

10) Solve:    −(3x − 3)− (−x − 6) = −10(3x −8)0 − 4(6x −1)−52   

11) Solve:    −(−2x +1)− (−1− 2)3 − 3x = 7(8x − 9)− 9 ÷ 3(−1− 2)−18   

12) Solve:  
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13) Solve:    −24 − (3x −1)−8x − (−1− 4)3 = −72 − 4(4x −1)− 90 + x   

14) Solve:  
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15) Solve:    −3(2x − 2)− (−1−1)5 − 7x = −22 − 4(5x − 3)− (−1−5)− 6x0  

16) Solve:  
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17) Solve:    −18 − (4x − 7)+ (−2− 2)3 − 6x = −92 −5(4x − 6)+ (−2− 3)2 − 4x  

18) Solve:  
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19) Solve:    −120 − 42 ÷ 6(−5− 2)− (7x − 2)− 3x − 35 = −2(4x − 6)− (−3−1)2 − x  

20) Solve:  
  
1

96
+ 5

98
x = 7

32
− 11

56
x  

 


